Chem. 6A F07 Dr. Mack Name: bﬂ‘-(

Quiz 7: 15 points
Section:
1. (2 points) Give the name or formula for the following:

(a) CuzN, %L@B K\‘\'V‘ AE (b) aluminum acetate A l ( (z, Hg 02_) 2

2. (3 points) Balance the following reaction: (Your lab instructor will sell you the products for | point)
(include all (s), (g), () or (aq) where appropriate)

2 _cnw+Fow- 4 W0 L 0O

3. (2 points)  Which of the following molecules is polar? circle your choice(s)

= (D

4. (2 points) Which of the following chemical equations is an acid-base reaction? circle your choice(s)

a) 2 HCl(aq) + Zn(s) — Hy(g) + ZnCly(aq)"
Cl(aq) + NH3(aq) — NH4Cl(aq)
¢) HCl(aq) + AgNO3(aq) — AgCl(s) + HNO3(aq)
d) Ba(OH),(aq) + NaySOy(aq) — BaSOy(s) + 2 NaOH(aq)
€) 2 NaOH(aq) + CuCly(aq) — Cu(OH),(s) + 2 NaCl(aq)

5. (2 points) All of the following are oxidation-reduction reactions EXCEPT circle your choice(s)

(a0(s) + H,0() — Ca(OH)(aq)
b) Hy(g) + Bry(g) — 2 HBr(g)
¢) Ca(s) + 2 HCl(aq) — CaCly(aq) + Hy(g)
d) 2 NaBr(aq) + Fy(g) — 2 NaF(aq) + Bry(g)
€) 2 HyO() — 2 Hy(g) + Oy(p)

6. (4 points) What mass of O,(g) is required to completely react with 20.3 g of methane (CH,(g)).
hint... you need a balanced reaction to start and there is help on this page!!

U lq) 4 20,4) == 001 & 2H0(y)

Rxn:

A0 22,008 O
i) CHy 25 g2a008 B 21,04 0
Lotg mNCHy  [wndy
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